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omework 4.2 PRACTICE: Synthetic Division, Remainder & Factor Theorem. Solve given a zero

Divide using Synthetic division:
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Use the Remainder & Factor Theorems:
1) What is the remainder when 3x3 + 10x? + x — 6 is divided by x + 3?
P = 3-3)’+0(-3)* 4 (-3)-§ =
2) Is (x — 2) a factor of 4x* + 13x + 10? Explain how you know.
P2) = 4 (2)7+3(2) 10 # O Sso net a fackn
3) What is the remainder wheg 3x3 + 10x? + x — 6 is divided by x — 1?
P(D: 3(:)3+10(l§ + (\) &= %
4) Is (x — 1) a factor of x> + 2x2 — 2x — 1? Explain how you know.

P(D=(N*+AN-2() -] 20 <o is a facter

5) Is (x + 2) a factor of 4x* + 13x + 10? Explain how you know.
PE2) = H-D ¢r3(-3) +/0 =6  So yes, frctor 2

Find the zeros using the given information:
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1) Find all the zeros of f(x) = x® — 4x2? + x + 6 given that x + 1 is a factor. T
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2) Solve for all the solutions of 2x3 — 5x2 + x + 2 = 0 given tha
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3) Find all the zeros of g(x) = 2x3 +3x%2 +8x +12if —>isaroot.
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